CALCULO

1. Calcula.
1.618 + 41 = 2.531 + 54 =:] & 834 + 55 =
9.226 + 71 = 6.545 +53=S 7.805 + 82 =
37364 23 = 4.583 + 14 = 6.453 + 45 =

2. Localiza los resultados de estas operaciones.

1.420 [ 1.240| 990 |6.100| 480 100x 3 200x 8
300x 5 120 x 4
200 | 300 |1.600|1.500| 540 TR 610 %6
450 |5.100|3.500 |2.830 |3.660 500 x 7 50x9
410x 8 310x6
8.100 | 3.280 | 1.860 | 5.300 | 300
600 x 3 60 x 5
480 | 909 | 840 [1.800| 520 710 x 2 110x 9

3. Recuerda las tablas trabajadas.
2x[ = 8 ax[ 1= 8 6x'—=30 sx[ |= 24
2x| |=116| |4x| [= |16]| |6X| |=|42][8X] |= |48
2x[ 1=18] |4x[ )= 32| |6x[ |=|sa]| [8x[ ]|= |72
3y — - —

s | |5x|_J= |0 |7x]| J=|21]|9x| |=|45
3x| [=121]| |5%| [|= 35| [7x| |=|35]||9%| |= |54
3 sx[ |

X — — - —
24 X\ 40| (7x] 1=(42]|19%] |= |81
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4. Realiza las siguientes divisiones
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5. Resuelve.
F i 1| 4 3,519 216 |7
X | 7 x| 7 8
2 17| 8 8 1 215 4 | 3 | 7
8 X119 9
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